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Answers and commentaries

Please note that these responses have been reproduced exactly as they were written by
the student.

This resource is to be used alongside the GCSE Psychology Paper 1 June 2022 Question
paper.

Question 4
You have been asked to investigate the effect of interference on the accuracy of memory.

Describe how you would design an experiment to do this.
You need to include:

e what participants would be asked to do
e asuitable hypothesis for your experiment
¢ the results that you expect to find.
[6 marks]

Mark scheme
[AO2 - 4 marks and AO3 - 2 marks]

AO2 (Assessment Objective 2)

Up to 2 marks for describing a method that would investigate the effect of interference on

the accuracy of memory:

e 2 marks: a clear and accurate description where participants do a similar thing with
similar material.

e 1 mark: a limited or muddled description.

Up to 2 marks for a suitable hypothesis for the experiment that has been described:

e 2 marks: there must be both conditions of the independent variable and a clear
dependent variable which makes the statement operational.

¢ 1 mark: the hypothesis lacks some clarity.

AO3

Up to 2 marks for the results you expect to find:

e 2 marks: a clear and accurate description of the expected results with both conditions of
the independent variable.

¢ 1 mark: a limited or muddled description of the expected results.

NOTE: The ‘description’ and the ‘results’ marks can only be awarded if the described
experiment investigates the effect of interference on the accuracy of memory.

© 2023 AQA 30f 30



GCSE PSYCHOLOGY - 8182 - PAPER 1 - ANSWERS AND COMMENTARIES

NOTE: Distraction is a distinct process (preventing encoding) and not the same as
interference (a failure to retrieve). An experiment that focuses on distraction is therefore not
likely to be creditworthy.

NOTE: If a student only describes a known study rather than basing their design on a known
study (max 1 mark).
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Student responses

Response A
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This is a mid-level response

This answer would be marked as follows:
e 2 marks for a clear and accurate description of a method that would investigate the

effect of interference on the accuracy of memory.
1 mark for a hypothesis that lacks some clarity. The dependent variable is not clear in

that ‘better’ is not a measurable concept. Better in what way? This means that the
statement is not operational.
e 1 mark for a limited or muddled description of the expected results. Wording such as

‘accurate recall of more words' is clearer and more precise than ‘better recall'.

4 marks
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Question 5
Murdock investigated the effects of serial position on recall.

Describe and evaluate this study.

[6 marks]

Mark scheme
Marks for this question: AO1 - 3 marks and AO3 - 3 marks

Level 3 -

Level 2 -

Detailed 5-6 marks
AO1: Relevant knowledge and understanding of Murdock’s serial position curve
study is accurate with detail.

AO3: Analysis and evaluation of Murdock’s serial position curve study is effective.
Any conclusions drawn are sound and fully expressed.

Relevant terminology is used consistently throughout. The answer demonstrates a
high level of substantiated reasoning, and is clear, coherent and focused

Clear 3-4 marks
AO1: Relevant knowledge and understanding of Murdock’s serial position curve
study is present but there are occasional inaccuracies/omissions.

AO3: There may be some effective analysis and evaluation of Murdock's serial
position curve study. There may be an attempt to draw conclusions.

Relevant terminology is usually used. The answer frequently demonstrates
substantiated reasoning, and is clear, generally coherent and focused although
structure may lack some logic.

Level 1 - Basic 1-2 marks

Level 0

© 2023 AQA

AO1: Knowledge and understanding of Murdock’s serial position curve study is
present but limited.

AO3: Analysis and evaluation of Murdock’s serial position curve study is of limited
effectiveness or may be absent. Any attempts to draw conclusions are not always

successful or present.

Relevant terminology is occasionally used. The answer occasionally demonstrates
substantiated reasoning, but may lack clarity, coherence, focus and logical structure.

No relevant content. 0 marks
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Possible content

AO1

To investigate whether there are separate short-term and long-term memory stores or to
see if the likelihood of recalling a word depends on its position in the list.

Participants heard lists of words. The word lists had between 10 and 40 words on them.
The participants were asked to recall as many as possible.

Participants recalled more words from the start of the list (primacy effect) and the end of
the list (recency effect) than those in the middle of the list.

These results have been taken to show that the words at the end of the list were recalled
best as they were still in the short-term memory. The ones at the start of the list were
recalled well because they had been transferred to the long-term memory. The words in
the middle of the list were not remembered well and this suggests that they were not in
either the short- or long-term store.

These results indicate the likelihood of recalling a word depends on its position in a list.

AO3

This provides evidence for the existence of short- and long-term memory stores.

This is a laboratory-based study, so participants were using their memory under highly
controlled conditions. This allowed the researcher to eliminate many extraneous variables
so they can be sure the position of a word in a list affected the likelihood of it being
recalled.

Participants were asked to listen to word lists. This was an artificial task because people do
not normally have to do this. This means the results may lack validity because they may
not predict how serial position affects memory recall in everyday memory.

The effects of serial position were tested in a laboratory setting in this study. This may
have increased the artificiality of the performance of the participants. This means it is
difficult to generalise research findings to predict the effects of serial position in a more
normal setting.

A limited sample of participants was used in this study. They were all psychology students
and so may have been of a similar age. This means it is difficult to generalise the findings
to predict the effects of serial position to people of different ages or who have not studied

psychology.

Accept other relevant content.

NOTE: Reference to ‘serial position’ is not enough for ‘relevant content’ because it is part of
the question stem.
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Student responses

Response A

Method: In a lab experiment, participants were shown a list of 20 words, for 2 seconds each,
and were given 90 seconds to write down as many words they could remember - in any order.
This was repeated 80 times over several days with a different list of 20 words used each time.

Results: The words at the end were recalled first and well (recency effect). The beginning
words were also recalled well (primary effect). The middle words weren't recalled very well.

Conclusion: The primary and recency effect were evidence for separate short-term and long-
term memory stores because the beginning words were released so flowed to the long term
memory and the end words were still in the short-term memory.

To evaluate, a weakness of the study is that it's a ;ab experiment so lacks ecological validity as
the task of remembering a list of words isn't close to real life activities. The setting was also
artificial so results can't be easily generalised beyond the study settings. Another weakness is
that some psychologists argue that evidence for separate long-term and short-term memory
stores are too simplistic and a s memory model. They argue that there are more than one
long-term memory store, for example: episodic, semantic and procedural.

This is a Level 3 response

An excellent answer.

Relevant knowledge and understanding of Murdock’s serial position curve study is
accurate with detail.

Analysis and evaluation of Murdock’s serial position curve study is effective and
conclusions drawn are sound and fully expressed.

6 marks

© 2023 AQA 8 of 30



GCSE PSYCHOLOGY - 8182 - PAPER 1 - ANSWERS AND COMMENTARIES

Response B
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This is a Level 2 response

The knowledge and understanding of Murdock’s serial position curve study is present but
there are occasional inaccuracies/omissions.

There is some effective analysis and evaluation of Murdock’s serial position curve.

4 marks
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Question 11
Bruner and Minturn investigated the effect of expectation on perception.

Describe this study.

Evaluate the research method used in this study.

[9 marks]

Mark scheme

[AO1 =4 marks AO3 =5 marks]

Level 3 - Detailed 7-9 marks
AO1: Relevant knowledge and understanding of Bruner and Minturn'’s study is
accurate with detail.

AO3: Analysis and evaluation of laboratory-based studies is effective. Research
conclusions drawn are sound and fully expressed.

Relevant terminology is used consistently throughout. The answer demonstrates a
high level of substantiated reasoning and is clear, coherent and focused.

Level 2 - Clear 4-6 marks
AO1: Relevant knowledge and understanding of Bruner and Minturn'’s study is
present but there are occasional inaccuracies/omissions.

AO3: There may be some effective analysis and evaluation of laboratory-based
studies. There may be an attempt to draw conclusions.

Relevant terminology is usually used. The answer frequently demonstrates
substantiated reasoning and is clear, generally coherent and focused although
structure may lack some logic.

Level 1 - Basic 1-3 marks
AO1: Knowledge and understanding of Bruner and Minturn’s study is present but
limited.

AQO3: Analysis and evaluation of the laboratory-based studies is of limited
effectiveness or may be absent. Any attempts to draw conclusions are not always
successful or present.

Relevant terminology is occasionally used. The answer occasionally demonstrates
substantiated reasoning, but may lack clarity, coherence, focus and logical structure.

Level 0 No relevant content. 0 marks

© 2023 AQA
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Possible content

AO1

24 participants took part in an experiment on recognising numbers and letters using an
independent groups design.

Half of the participants were shown a series of letters with an ambiguous figure in the
middle. The other half were shown a series of numbers with the same ambiguous figure
in the middle.

The ambiguous figure was a broken ‘B’ that could be seen as either the letter B or the
number 13.

Most of the participants who had been shown numbers drew a “13". Most of the
participants who were shown letters drew a ‘B'.

The researchers concluded that the participants’ expectations had directly affected how
they interpreted the ambiguous figure.

This shows that expectation affects perception.

AO3

This is a laboratory-based study, so people were perceiving figures under highly controlled
conditions.

This is useful for the researcher who has eliminated many extraneous variables so can be
sure the IV has affected the DV if the results show an effect.

Procedures are standardised so the study can be replicated.

Laboratory-based studies are often carried out in artificial settings. This means there is a
lack of ecological validity.

Laboratory-based study often use artificial tasks (such as interpreting ambiguous images).
Because people do not normally have to do these, this can reduce the validity of the
results.

High control can decrease the validity of the results because it increases the artificiality of
the performance of the participants. This means it is difficult to generalise research
findings to predict behaviour in a more normal setting.

Credit other relevant content.

NOTE: Where a description is not given, or is not creditworthy, AO3 marks for accurate
evaluation of laboratory-based studies can still be awarded.

NOTE: Reference to the effect of expectation on perception is not enough for ‘relevant
content’ because it is part of the question stem.

NOTE: Evaluation of Bruner and Minturn’s study with no link to the research method used
(MAX 1 AO3 mark).
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Student responses

Response A
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This is a Level 3 response

The answer provides relevant knowledge and understanding of Bruner and Minturn’s
study that is accurate and has an appropriate amount of detail for the 4 AO1 marks
available.

Some of the analysis and evaluation of laboratory-based studies is effective. The
conclusions drawn are sound and fully expressed. The section on generalisation lacks
some clarity and is therefore less effective.

8 marks
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Response B
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This is a Level 2 response

There is relevant knowledge and understanding of Bruner and Minturn’s study present in
this answer but there are occasional inaccuracies/omissions. The description lacks some
clarity and does not have an aim or a conclusion. Although the question does not
specifically require both - they do add to the completeness of a description.

Not all of the offered evaluative points are relevant to laboratory experiments but positive
marking is used and so the answer is not penalised for this. There is some effective
analysis and evaluation of laboratory-based studies and some attempt to draw
conclusions.

6 marks
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Question 13
What is meant by ‘praise’ in the context of learning?
[2 marks]

Mark scheme
[AO1 = 2 marks]

Up to 2 marks for a definition of praise in the context of learning:

e 2 marks: a clear and accurate definition.
e 1 mark: a limited or muddled definition.

Possible content
e Expressing approval for the effort put into a piece of work.
e Expressing admiration for the standard of a piece of work.

Accept other relevant definitions.

NOTE: A definition should be considered as limited unless there is direct reference to praise
in the context of learning.

NOTE: An example may be used to add clarity to a definition (e.g. by providing a learning
context) but is not by itself creditworthy.

NOTE: Where the words ‘praise’, ‘praising’ or ‘praised’ are used as part of the answer and are
not defined/explained, this will reduce the clarity of the answer.
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Student responses

Response A
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This is a full mark response

This is a clear and accurate definition of praise in the context of learning. An example is

used to add clarity to the definition but is not by itself creditworthy.

2 marks

Response B

(eddlR A wWhea Q peNON iS5 gutn A& roward,
vatkally or physically , bared o thoic
QEp Iy o0 PAC ¢ O MANCE -

This is a mid-level response

A limited or muddled definition that is not a direct reference to praise in the context of

learning.

1 mark
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Question 15

Read the following information

Two doctors are discussing factors that influence the brain development of a baby before it
is born.

“The mother’s genes play a key role,” says Doctor Kumar.

“| agree,” replies Doctor Andersson, “but the quality of a mother’s diet during pregnancy
also affects how the brain develops. A healthy balanced diet is very important.”

Explain the role of nature and nurture on the brain development of a baby before it is born.

Refer to Doctor Kumar's and Doctor Andersson’s comments in your answer.

[6 marks]
Mark scheme
[AO1 =4 marks AO2 =2 marks]
Level 3 - Details 5-6 marks

AO1: Relevant knowledge and understanding of the role of nature and nurture on
early brain development is accurate with detail.

AQO2: Clear and accurate application of knowledge and understanding of the role of
nature and nurture on early brain development to Doctor Kumar's and Doctor
Andersson’s comments.

Relevant terminology is used consistently throughout. The answer demonstrates a
high level of substantiated reasoning and is clear, coherent and focused.

Level 2 - Clear 3-4 marks
AO1: Relevant knowledge and understanding of the role of nature and nurture on
early brain development is present but there are occasional inaccuracies/omissions
or level 3 knowledge of either nature or nurture.

AQO2: Reasonable application of knowledge and understanding of the role of nature
and/or nurture on early brain development to Doctor Kumar’s and/or Doctor
Andersson’s comments.

Relevant terminology is usually used. The answer frequently demonstrates
substantiated reasoning, and is clear, generally coherent and focused although
structure may lack some logic.
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Level 1 - Basic 1-2 marks

AO1: Knowledge and understanding of the role of nature and/or nurture on early
brain development is present but limited.

AQO2: Limited application of knowledge and understanding of the role of nature
and/or nurture on early brain development to Doctor Kumar's and/or Doctor
Andersson’s comments.

Relevant terminology is occasionally used. The answer occasionally demonstrates
substantiated reasoning, but may lack clarity, coherence, focus and logical structure.

Level 0 No relevant content. 0 marks

Possible content

AO1

Nature refers to the argument that characteristics and behaviours are genetically
influenced.

This suggests that how a baby’s brain develops before it is born is influenced by the genes
inherited from its parents.

Nurture refers to the argument that characteristics and behaviours are influenced by
upbringing, environment and experiences.

Nurture suggests that how a baby’s brain develops before it is born is influenced by the
mother's environment, lifestyle and experiences during pregnancy.

Most brain development before birth is due to nature but nurture also plays a role.

Both nature and nurture can affect early brain development (interaction between nature
and nurture).

AO1

Doctor Kumar is talking about nature when highlighting the influence of a mother’s genes
on early brain development.

Both Doctor Kumar and Doctor Andersson state that nature plays a key role in early brain
development because they agree that a mother’s genes are important in early brain
development.

Doctor Andersson is talking about nurture when highlighting the importance of the
mother’s diet during pregnancy.

Doctor Andersson is talking about nurture when saying that a mother’s lifestyle and
experiences will influence brain development.

Accept other relevant content.
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Student responses

Response A
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This is a Level 2 response

Relevant knowledge and understanding of the role of nature and nurture on early brain
development is present but there are occasional inaccuracies/omissions. There is clear
knowledge of what the two terms mean but limited depth to the explanation.

There is reasonable application of knowledge and understanding of the role of nature and

nurture on early brain development to Doctor Kumar’'s and Doctor Andersson’s
comments.

4 marks
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Response B
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This is a Level 1 response

The knowledge and understanding of the role of nature and nurture on early brain
development is present but limited. The knowledge and understanding of nurture is
contained within the addressing of Doctor Andersson’s comments.

There is limited application of knowledge and understanding of the role of nurture on
early brain development. Only Doctor Andersson’s comments are referred to.

2 marks
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Question 17

Read the following information

A survey of employees highlighted some differences between two restaurant businesses.

Zuppa is a business that focuses on employee performance and recruiting talented people.
Risk taking is not encouraged and people who work at Zuppa often say they dislike
challenges.

Bravas places a higher value on the hard work of employees and only recruits people who
show willingness to develop new skills. It encourages risk taking, and employees who work
in Bravas say they enjoy challenges.

Describe and evaluate Dweck's mindset theory of learning.

In your answer, refer to the mindset encouraged by both restaurant businesses in this
information.
[9 marks]

Mark scheme
[AO1 =3 marks AO2 =3 marks AO3 =3 marks]

Level 3 - Detailed 7-9 marks
AO1: Relevant knowledge and understanding of Dweck’s mindset theory of learning
is accurate with detail.

AO2: Clear application of knowledge and understanding of Dweck's mindset theory
of learning to both restaurant businesses.

AQO3: Analysis and evaluation of Dweck’s mindset theory of learning is effective. Any
conclusions drawn are sound and fully expressed.

Relevant terminology is used consistently throughout. The answer demonstrates a
high level of substantiated reasoning, is clear, coherent and focused.

Level 2 - Clear 4-6 marks
AO1: Relevant knowledge and understanding of Dweck’s mindset theory of learning
is present but there are occasional inaccuracies/omissions.

AO2: Reasonable application of knowledge and understanding of Dweck’s mindset
theory of learning to either/both restaurant businesses.

AO3: There may be some effective analysis and evaluation of Dweck’'s mindset
theory of learning. There may be an attempt to draw conclusions.
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Level 1 - Basic 1-3 marks

AO1: Knowledge and understanding of Dweck’s mindset theory of learning is
present but limited.

AQO2: Limited application of knowledge and understanding of Dweck’s mindset
theory of learning to either/both restaurant businesses.

AO3: Analysis and evaluation of Dweck’s mindset theory of learning is of limited
effectiveness or may be absent. Any attempts to draw conclusions are not always
successful or present.

Relevant terminology is occasionally used. The answer occasionally demonstrates
substantiated reasoning, but may lack clarity, coherence, focus and logical structure.

Level 0 No relevant content. 0 marks

Possible content
AO1

People with a fixed mindset believe that success is due to innate factors like genes. This
means there is nothing you can do to change your ability or talent.

People with a fixed mindset view failure as a lack of talent.

People with a growth mindset believe that ability and success is due to hard work and
perseverance.

People with a growth mindset view failure as an opportunity to grow.

Mindset is affected by the form of praise (i.e. person praise or process praise) a student is
given.

AO2

Employees in Zuppa are more likely to have a fixed mindset. People are recruited
according to their talents and this business values results over hard work.

Employees in Zuppa dislike challenges because if they fail on a task it will be seen as due
to a lack of talent.

Employees in Bravas are more likely to have a growth mindset. People are recruited
according to their work ethic and this business values hard work over natural talent.
Employees at Bravas enjoy challenges because they know they can learn from
experiences, even if they fail.

AO3

One strength of mindset theory is that people can change their mindset and this can be
used to improve performance in different contexts such as at school, in sports or in the

workplace.

There is evidence to support the idea that a growth mindset can improve performance.

Dweck’s research showed that teaching children to develop a growth mindset in schools
increased their motivation and grades.

Accept other relevant content.

NOTE: The AO2 may be separate or embedded elsewhere; both are equally acceptable.
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Student responses
Response A
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This is a Level 3 response

Relevant knowledge and understanding of Dweck’s mindset theory of learning is accurate
with detail. There is clear application and some effective analysis and evaluation (only one
accurate AO3 statement). Relevant terminology is used.

This answer is focused and does cover all of the required elements (i.e. description,
evaluation and reference to mindset encouraged by both restaurants).

8 marks
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Response B

e, Dlneles  TNINOSEX Yreocy
of R T Jctg-::es@?
AN 3T L DECDE Lot @ Ciredd snundsek
STFEN. Fanak PECPE Wwnd oce 2o QU
_QAonk Yo KO WY - Teey A Wee O
Aoce Giskes W Peaq of %iksngﬂm@_mﬁx%
ONG AENk LUEE EAOIENQES OF AN LCE X0
MAW%MM
—OeOT LU CEouNomnAsexs  GBven Ynene
Aﬂ_ﬁﬁ&wwm%ﬂmwf
OEet) SO \CeeD mﬁu&r\e}\ XOet mn%tg
M«J‘*ﬁ%_\\ﬂ O Qe (A3
ORO RO AW HhanGs Sven \C xvnen
O ?S_Qq ok WY %h&\f_&!\k Q\lﬁ_\& 2o,
'S o cusnes wshn o0fired thwdses Qs
*‘“’%M ‘E‘YT\‘CHQ\Q PecD\e Wttn haerd
Mk_\,u_\\m%ﬂ%k&mm W\% o
A0 OIRES  Hourwet ROQuos & A 8ud0ess
Mm\s%mmgmﬂ\ NG s
= -tveg efm\n\\.s WEMMLN%

© 2023 AQA 26 of 30



GCSE PSYCHOLOGY - 8182 - PAPER 1 - ANSWERS AND COMMENTARIES

Extraspace  ™owu m%._m\c Ore NN . QOO
_DuUre 65 DRNES Qe ®  tno NanE Bixed)

ONMMNOSSAS OHeN - eaiev e essn DIonse
Qra OeoE LING KOME BEouIN CONCOESES
Olren Yecusd DEOCcess O, Desson OXise
S OfOase mm_unmm_w i&m_demgr

e vaxe %:;m_aaﬁmm_gxgcesy_

This is a Level 2 response

Relevant knowledge and understanding of Dweck’'s mindset theory of learning is present.
There is reasonable application but no analysis and evaluation. Relevant terminology is
used.

This answer has reasonable focus but does cover not all of the required elements - there
is no attempt to evaluate. This immediately limits the marks to 6 (MAXAO1 + AO2 = 6).

5 marks
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Question 23
Evaluate the use of correlations in psychological research.
[6 marks]
Mark scheme
[AO3 - 6 marks]
Level 3 - Detailed 5-6 marks

Analysis and evaluation of the use of correlations in psychological research is
effective. Any conclusions drawn are sound and fully expressed.

Relevant terminology is used consistently throughout. The answer demonstrates a
high level of substantiated reasoning, is clear, coherent and focused.

Level 2 - Clear 3-4 marks
There may be some effective analysis and evaluation of the use of correlations in
psychological research. There may be an attempt to draw conclusions.

Relevant terminology is occasionally used. The answer occasionally demonstrates
substantiated reasoning, but may lack clarity, coherence, focus and logical structure.

Level 1 - Basis 1-2 marks
Analysis and evaluation of the use of correlations in psychological research is of
limited effectiveness or may be absent. Any attempts to draw conclusions are not
always successful or present.

Relevant terminology may not be used at all or may be muddled.
Level 0 No relevant content. 0 marks

Possible content

o Correlations can be used to investigate relationships without the researcher manipulating
variables. This means that correlations can be used when other research methods are not
suitable due to ethical or practical reasons - for example, to investigate whether social
media use is linked to mental health problems.

e Correlations can provide a useful starting point for research because they allow a
researcher to see whether two co-variables are connected. If a pattern is established
between variables, a researcher can then use an experiment to further investigate this
relationship.

e Correlations cannot be used to establish cause and effect relationships between two co-
variables. For example, we might find a positive correlation between playing violent
computer games and aggressive behaviour. However, we cannot show that one causes the
other as there may be a third variable that could explain this relationship.

e Correlations can be used to identify and investigate non-linear (curvilinear) relationships
between two variables, for example, stress level and task performance.
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e Large amounts of information are required for correlational research to be useful. This is
because establishing relationships from small samples may not be reliable.

e Collecting a large enough data set for correlations to be considered reliable can be time
consuming and expensive for researchers.

Credit other relevant evaluation.

NOTE: Full credit can be awarded without reference to examples, but answers can receive
credit for using examples to illustrate evaluations.
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Student responses

Response A

A weakness of using correlation is that correlation only show the relationship between 2
variables. Correlations do not explain if one causes the other, of how or why the two variables
are connected. Therefore, the use of correlations is limited as it doesn't establish cause and
effect, it simply suggests two variables are linked.

However, a strength of correlation in psychological research is the fact they identify
relationships. Correlations do tell us if the variables are connected, which can lead to further
psychological research. It also helps save time, as a connection is already identified, it's just a
matter of finding how and what links the two variables together. Therefore, correlations are
useful as they enhance and pave the way for advance psychological research.

This is a Level 3 response

Analysis and evaluation of the use of correlations in psychological research is effective.
Some conclusions are drawn and are sound and well expressed.

Relevant terminology is used and the answer demonstrates a high level of substantiated
reasoning, is clear, coherent and focused.

5 marks

Response B

Correlations in psychology are useful as they can establish a link or similarity between two
variables, allowing for easy comparisons. These comparisons may also extend beyond
variables to other studies of a similar nature.

Despite this, correlations by themselves cannot establish cause and effect, meaning they do
not show why something happens and what can occur as a result, hindering their credibility
when placed in isolation.

This is a Level 2 response

There is some effective analysis and evaluation of the use of correlations in psychological
research and an attempt to draw conclusions.

There are some valid points made but the attempted to develop these points are generally
not relevant or accurate.

3 marks
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